
Comfo Back & Cozi Back
Three Seat Glider Assembly Guide

1/4" x 3" Bolt

1/4" x 4 1/2" Bolt 1/4" x 3 1/2" Bolt

5/16" x 2 1/2" Bolt

5/16" x 2 1/2" Bolt

Back & Seat 
Attachment Detail

 

1/4" x 3" Bolt

1/4" x 3" Bolt

1/4" Flange Nut

Step 1

1/4" x 3" Bolt

A.
Fasten the Arm and Leg Assembly to the Seat
and Back using 1/4" bolts (sizes are specified below.)
Using a hammer, firmly tap the bolts until they are flush
with the poly surface. Securely tighten using 1/4" flange nuts.

C.
Fasten the Back to the
Seat using 2 - 1/4" x 3" bolts
and tighten using 1/4" flange nuts.

D.
Repeat A. & B. to fasten
the second Arm and Leg
Assembly to the Seat and Back

Hardware Included Tools Required

8 - 5/16" x 2" Bolts
8 - 5/16" x 2 1/2" Bolts
2 - 1/4" x 4 1/2"Bolts
2 - 1/4" x 3 1/2" Bolts
8 - 1/4" x 3" Bolts
12 - 5/16" Flange Nuts
8 - 5/16" Lock Nuts
4 - 5/16" Cap Nuts
4 - 5/16" Aluminum Spacers
12 - 1/4" Flange Nuts
4 - Glider Brackets
1 - Allen Wrench

7/16" Wrench
&

1/2" Wrench

Allen Wrench
  (Included)

Hammer

B.
Insert 5/16" x 2 1/2" bolts into
the pre-drilled holes located
at the very bottom of the legs.
Tighten using 5/16" flange nuts.
Ensure that the bolts are
turned inwards.



 

 

Step 2

Step 3

Step 4

5/16" x 2" Bolt

5/16" x 2" Bolt

1/4" x 3 1/2" Bolt1/4" x 3 1/2" Bolt

5/16" Flange Nut

5/16" Flange Nut

1/4" Flange Nut1/4" Flange Nut

Glider Stop

Glider Stop

A.
Attach the two cross supports to
the glider bases using 8 - 5/16" x 2"
Bolts and 8 - 5/16" Flange Nuts.

B.
Attach the 4 - glider stops to the
glider bases using 4 - 1/4" x 3 1/2"
bolts and 4 - 1/4" Flange Nuts.

Attach the four glider brackets to the
glider base by first sliding the bracket
onto a 5/16" x 2 1/2" bolt. Next slide a
round5/16" aluminum spacer onto the
bolt.and insert the bolts into the
pre-drilled holes of the glider base.
Firmly tighten with a 5/16" lock nut and
place a 5/16" cap nut at the end of the
bolt sequence.5/16" x 2 1/2" Bolt

Glider Bracket

5/16" Aluminum Spacer

5/16" Lock Nut

5/16" Cap Nut

Front of BaseBack of Base

Slide the Base Assembly
underneath the seat of the
glider, ensuring the front of
the base is pointed forward.
Insert the 5/16" x 2 1/2" bolts
that are installed at the bottom
of the glider legs, into the lower
holes of the Glider Brackets.
Securely tighten using 4 - 5/16"
Lock Nuts.

5/16" x 2 1/2" Bolt

Glider Leg

5/16" Flange Nut

Glider Bracket
5/16" Lock Nut


